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Predict the major product each of the followin

Il necessary. (60 pt)
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=~ Which one of the following compounds is the most strong acid? (4 pt)

@ , (®) . © o H (@ Ho+ H
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=~ Rank the following in order of increasing reactivity (least— most)loward acid hydrolysis : 4 pv)

O @ ‘
/jlo/«\ /J\c| /JKNHCH3
1 2 3

» Rank the following species in order of decreasing nucleophilicity in a polar protic solvent
(most-—least nucleophilic) (4 pt)
. ’ Pt
O NS ]O|/
1 2 3

4~ Which of the following has the smallest heat of combustion? (4 pt)
(c) (d)
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X~ The 2,3-dichloropentane whose structure is shown is
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Cl—H
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£~ Propose (he synthelic tagtie for each of the {ollowing reaction from the provided

starting malterial. (20 pt)
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